Circulation test 2005 (Mégel/Kohl/Bassetti) GEOWATT /AG
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Circulation Test: GPK4 - p/T/Q History

GEOWATT /AG

2 120

115

aes

1.5 “,*“—V 110

- 105
é—“ VVL\ G
2 1y 100 =2
s - 3

& 95

0.5 90

Quur]
TOIJY 1 85
0 L L L — L — Pwh 2 80
1E+06 2E+06 4E+06 5E+06

3E+06
time [s] from 11 July 2005 00:00:59

Initial conditions:

 Unperturbed temperature

* po = 1065.0 Kg/m® (20°C, 0.1 MPa)> p., = 44.36 MPa
During Circulation

pu = 1050.5 Kg/m? (21 °C, 0.1 MPa)

- Used NaCl-molality for the simulation = 1.367

Circulation Test:

GPK4 - Calibration of thermal model with data

GEOWATT /AG
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Circulation Test:
GPK4 - T History / Simulation Tqr GEOWATT /AG

Variation of thermal conductivity | Good agreement of Tout with calibrated thermal model |
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Circulation Test:

GPK4 - Calculated P_ /P GEOWATT /AG

po = 1065.0 Kg/m? (20°C, 0.1 MPa) & p.., = 44.36 MPa
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Circulation test 2005 GEOWATT /AG

After 60 days
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Circulation Test: GPK2 - p/T/Q History GEOWATT /AG
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po = 1065.0 Kg/m® (20°C, 0.1 MPa) > pq, = 43.29 MPa

py = 1055.0 Kg/m®(20 °C, 0.1 MPa)
-> Used NaCl-molality for the simulation = 1.525




Circulation Test:

GPK2 - Simulation Tyt 8
A-profile
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- —92 l1s/MPal]

Pcso —Pcs

P, = 1065.0 Kg/m? (20°C, 0.1 MPa) & p.., = 43.29 MPa
42.0 MPa
50

14 = 15
\ g — 14
12 48 — 13
MH V‘ T P
r—-‘*‘b"‘"‘" v i
\ B — 12
10 46__ 1M1
— ©
z || ™ 1 &1 ¢
= 1 = 105
0° P—WM L i :;_3 i %
8 4 9
-8
- i
6 42 -7
Qg B —6
Pcs
PI 1 1
P | S e - L1 L1 L1 A1 0 s
0 1E+06 2E+06 3E+06 4E+06 5E+06

time [d] from 11 July 2005 00:00:59




Circulation test 2005

GEOWATT /AG

After 60 days
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Circulation Test: GPK3 - p/T/Q History

GEOWATT /AG

Pwh [MPa]

Pun

T L]
H LW
I ) ]
i P—, = ]
H (T ATy L |
l measure of |
p-T-profiles |
) 1
L —
| | 1 1
1E+06 2E+06 4E+06

po = 1065.0 Kg/m® (20°C, 0.1 MPa) - p, = 46.2 MPa

p, = 1053.5 Kg/im?3 (21 °C, 0.1 MPa)

-> Used NaCl-molality for the simulation = 1.49
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Circulation Test:
GPK3 — Calibration of thermal model with data GEOWAU AG
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Circulation Test:
GPK3 — T profile with aquifer model GEOWATT /AG
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Circulation Test:

GPK3 —Calculated P/l GEQWATT /AG
po = 1065.0 Kg/m® (20°C, 0.1 MPa)
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Circulation test 2005 GEOWATT /AG
After 60 days
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GPK4: temperature development at MD 350 m after
different production periods

GEOWATT /AG
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